

Paper: Maths-II

Submitted by :- Muhammad Saqib

Submitted To :- Anwar Shamim

Class ID :- 11381

Technology :- Civil B-Tech

Date :- Aug 25, 2020

Question NO1 :-Answer NO1 :-Part (a) $\int (x^2 - e^x) dx$

Solution let $u = x^2$, $\frac{dv}{dx} = e^x$
 $\frac{du}{dx} = 2x$, $v = e^x$

$$\int x^2 e^x dx = x^2 e^x - 2 \int x e^x dx \rightarrow \textcircled{A}$$

$$\int x e^x dx$$

let $u = x$ $\frac{dv}{dx} = e^x$

$$\frac{du}{dx} = 1 \quad v = e^x$$

$$\int x e^x dx = x e^x - \int e^x dx$$

$$= x e^x - e^x \rightarrow \textcircled{1}$$

Put $\textcircled{1}$ in \textcircled{A}

$$= x^2 e^x - 2(x e^x - e^x) + C$$

$$= \boxed{x^2 e^x - 2x e^x + 2e^x + C}$$

QNO1

Part(b):- $\int (1+3t) \cdot t^3 dt$

Solution:-

$$\begin{aligned} & \int (1+3t) \cdot t^3 dt \\ &= \int (t^3 + 3t^4) dt \\ &= \int t^3 dt + 3 \int t^4 dt \\ &= \frac{t^4}{4} + \frac{3t^5}{5} + C \\ &= \boxed{\frac{1}{4} t^4 + \frac{3}{5} t^5 + C} \text{ Ans.} \end{aligned}$$

Question NO1 :-

Part (C) :- $\int (e^x - e^3) dx$

Solution :-

$$\begin{aligned} & \int (e^x - e^3) dx \\ &= \int e^x dx - \int e^3 dx \\ &= e^x - e^3 \int dx \\ &= \boxed{e^x - e^3 x + C} \text{ Ans.} \end{aligned}$$

Pg#4

Question NO2 :-Answer NO2 :-Taylor's Series

n	$f^n(x)$	$\frac{f^n(-4)}{n!}$	
0	e^{-6x}	$\frac{(-6)^0 e^{-6(-4)}}{0!}$	$\frac{(-6)^0 e^{24}}{0!}$
1	$-6e^{-6x}$	$\frac{(-6)^1 e^{-6(-4)}}{1!}$	$\frac{(-6)^1 e^{24}}{1!}$
2	$(-6)^2 e^{-6x}$	$\frac{(-6)^2 e^{-6(-4)}}{2!}$	$\frac{(-6)^2 e^{24}}{2!}$
3	$(-6)^3 e^{-6x}$	$\frac{(-6)^3 e^{-6(-4)}}{3!}$	$\frac{(-6)^3 e^{24}}{3!}$
4	$(-6)^4 e^{-6x}$	$\frac{(-6)^4 e^{-6(-4)}}{4!}$	$\frac{(-6)^4 e^{24}}{4!}$

 e^{-6x} at $x = -4$

$$e^{-6x} = e^{24} + \frac{(-6)e^{24}}{1!}(x+4) + \frac{(-6)^2 e^{24}}{2!}(x+4)^2 + \frac{(-6)^3 e^{24}}{3!}(x+4)^3$$

$$- \frac{(-6)^4 e^{24}}{4!}(x+4)^4 + \dots$$

$$= \sum_{n=0}^{\infty} \frac{(-1)^n 6^n e^{24}}{n!} (x+4)^n \quad R = \infty$$

Ans

QNO3 ::Answer Part (a) :-

$$f(y) = x \cdot \sin x$$

differentiate w.r.t x

$$f(y) = \frac{d}{dx} (x \cdot \sin x)$$

$$f(y) = x \frac{d}{dx} (\sin x) + \sin x \frac{d}{dx} (x)$$

$$f(y) = x \cos x + \sin x (1)$$

$$f(y) = x \cos x + \sin x \quad \text{Ans.}$$

Answer Part (b) :-

$$f(y) = x^2 \cos x$$

differentiate w.r.t x

$$f(y) = \frac{d}{dx} (x^2 \cos x)$$

$$f(y) = x^2 \frac{d}{dx} (\cos x) + \cos x \frac{d}{dx} (x^2)$$

$$f(y) = x^2 (-\sin x) + \cos x (2x)$$

$$f(y) = -x^2 \sin x + 2x \cos x \quad \text{Ans.}$$

QNO3:Part(c):

$$f(t) = z(2z-2)^2$$

differentiate w.r.t z

$$f(t) = \frac{d}{dz} (z(2z-2)^2)$$

$$f(t) = z \frac{d}{dz} (2z-2)^2 + (2z-2)^2 \frac{d}{dz} (z)$$

$$f(t) = z \cdot 2(2z-2)^{2-1} \frac{d}{dz} (2z-2) + (2z-2)^2$$

$$f(t) = z \cdot 2(2z-2)(2) + (2z-2)^2$$

$$f(t) = 4z(2z-2) + (2z-2)^2 \text{ Ans.}$$